Sinplify[eqnsl3 /. {C1;2 > cC}]

Vo[0, ¢] =1&&Vp[cCc, 0] ==1&&Vi1[Cc, 0] =0&&

-1l+e®+2cef®Viafc, C] -1l+e®+2ce®Vigc, c] -2cCc Vo [C, C]
5 = Va1 [C, C] & =0&&
[ c

(-1+e®) (-1+e“+2ce®Via[Cc, c]-2C Vo [C, C])

= 08&&
c

2ce®’2Vyp[c, €] - (—1+<e°/2) (—1+e°/2—20V21[C7 CJ)

=e Vo [c, c] &&

2c
(71+e°/2)2+2c (-e®/2 +e%) Viz[c, c] -2ce®/2Vp (¢, C]
Voo [0, €] = 0&& - = Vi [c, c]
2c
-l+e“+2ce®Vi[c, C] -l+e“+2ce®Vip[c, c]-2c Vo [C, C]
Sol ve[ = V1 [C, C] && =08&
2c c

(-1l+e®) (-1+e®+2ce®Vip[Cc, c]-2C Vo1[C, C])
= 0&&

c

2ce®’2Vi[c, c] - (-1+e®/?) (-1+e?-2c Vo [c, C])
=e® Voo [C, c] && V5, [0, c] == 0&&

2c
(-1+e°/2)2+20 (-e°/2+e°) V12[C, c] -2ce/? V22[C, c]
- = Vi1 [C, C] &&
2c

Viafe, ¢] = 08&&Var[c, ¢] =0, {Vulc, cl, Vazlc, ¢l Valc, cl, Valc, cl}]

e—c/z (_1+ec/2) —1+KEC/2
{{Vll[C, c] -0, Vip[c, ¢] 5 -—+—————, Vo1[C, C] » ————, Va2 [C, C] %0}}
2cC 2c
Solve[eqgns, ({Vii[C1, C2], Viz2[C1, C2], Va1[Ci, C21,
V22 [C1, C2], Vi1[C2, C1], Viz2[C2, C1], Va1[C2, C1], Va2[C2, C11}1[[1]]

Solve:svars : Equations may not give solutions for all "solve" variables. >
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-1+e (-1 +e%)cy
C €1  C
-c - -+
et (_1+ez) (—1+ez 2) . e (-1 +e) Vo [C1, Cp]
Va2 [C1, C2] — - - +e 2 Vi1 [Cp, C1] + - ,
23 23
1+e2)(cl+c2) 1+e2
‘1 % °, %
e 2 2 (—1+<ez 2) o e
4 %
Viz2[C2, C1] - - +e 2 2 Vp[cy, C2],
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C1 ¢y C1 C2 C2
- = —+C2 Ci+— - _& S
e 2 (—ez Ci1+ez2 Ci-e 2 Ca+e2 Cy e 272 (71+ec1>02\/21[01’ co]
Va1 [C2, C1] —» - + }

(-1+e)cy (Cp+Cp) (-1+e%)cy
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Solve[eqns, {Vii[C2, C1], Viz2[C2, C1], Va1[C2, C1], Va2[C2, C1]}]

1 Y G e Y o, L%,

{{Vll[CZy C1] > ——— (62 Ci-e2 2Cy-Cr+ez2 Cp+ez C]Vip[Cy1, C2] —e2 2 C]Vip[C1, C2] +
C2 (C1 +C2)

€y € C c1

S S, % S €1
€2 C1Cp Viz[C1, C2] —@2'2 €1 C2 Vi2[C1, C2] +@2 C1CaVaa[C1, C2] +€2 €3 Vaa[C1, C2]),

— C2

_% €1 C2
e 2 (—1+ez+2 -C1 Vo1 [C1, C2] —-C2Va1[C1, C2]

Viz2[C2, C1] » - ,
C1 +Co

S
2

a2 a2 G, %
-l+e2 2 +e2 2 €y Vip[C1, C2] +e2 2 C2Vip[C1, C2]
, Va2 [C2, C1] =

Vo1 [C2, C1] —
C1 +Co

- e
C1 (C1 +C2)

o1 S
C1C2 Vo1 [C1, C2] —€2 C1CaVo1[C1, C2] +C3 Vo1 [C1, Co] —e2 €5 Vo [Cy, Cz})}}
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